In a tensile test, when the material is stressed
beyond elastic limit, the tensile strain as
compared to the stress

Ueh clefel URIETOT H, ST UG I YcIFd HIHT I
gRefed fhar Srar g, dl gfdee i geriicsds
RER...

Op 1 : decreases-slowly/H-8X &g |

Op 2 : increases slowly/¢fI¥-¢T S gl

Op 3 : decreases more quickly/a§H el g gedr gl
Op 4 : increases more quickly/Sgd dsil & Sec 8|

A steel tie rod of 25 mm diameteris subjected to a
pull of 45 kN. If. Young's/modulus of elasticity is
2x10° N/mm?%what, wodld 'be the longitudinal
strain?
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When a tensile load of P newtons is applied on a
circular rod of diameter D and length L, it produces
an elongation of x units. What is the eloengation
produced by the same tensile load on a hollow
circular rod with external‘'diameter Drsand internal
diameter 0.5D and made up of the same material
and of same length?
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A compound bar consists of steel and bronze bars
with areas of 10cm?and 20cm?and Young's
modulus of Elasticity 2 x10°N/mm .and 1 x
10° N/mm respectively. If the loads/shared by
them are Ps and Py then Ps™, Py will.be
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Arrangesthe values of Young's, Bulk and Rigidity
modulus of mild stéel.in the ascending order of
magnitude
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The relationship among the three -elastic
constant is
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The Young's modulus' of/ elasticity is
determined for mild steel in tension (E:) as well
compression (Ec). The ratio (E¢/E:) will have a
value closer to-
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A conical bar with base diameter D and lengthL
has a unit weight of y. The elongation due to
its weight is given by
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The maximum strain energy stored material up
to the elastic limit is called:
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Op 1 : Resilience/erdaa

Op 2 : Proof resilience/q& oieiTad

Op 3 : Modulus of resilience/d=eTad ATATH
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In figure.....represents glass

R A.paprcAars
O

- Strain S

Op 1 : curve A/dsh A
Op 2 : curve B/dsh B
Op 3 : curve C/dash C
Op 4 : curve D/dash D

A steel cable 20 mm.diameter and 10 metre
longis subjected to/a tensile force of 5000 ==
Newton. If the modulus of elasticity of the
material of the wire is 2 x10° N/mm?. Then the
elongation of the cable is:
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A dead load is-
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Op 2 : one that docs not exist actually
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Op 3 : one that remains constant
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Op 4 : one that does not remain constant

AT TEAT &

In compression test, the fracture in/cast iron
specimen would occur along-
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The modulus of elasticity is expected to have
least value for-
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Op 1 : aluminium/TgA AT

Op 2 : glass/aia

Op 3 : copper/ahiuY
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